

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 1, 2023

Progress Estimate 4	Number	Contract ID Prime Contract	221021-H03 or Apex Paving Co	Period Start Period End	May 16, 202 June 1, 202	23 Ne	iginal Contract Amount t Change Order Amount rrent Contract Amount	\$9,079,379.49 \$5,613.12 \$9,084,992.61			
Approval Date									By User		
June 1, 2023			Generated and App	roved (a	and should be	considered D	raft) at	the Project Office Level by	coolec1		
June 1, 2023	Resident Engineer Level by	HILLSD1									
June 5, 2023			Rev	Reviewed and Approved at the Central Office Controllers Office Lev							
Original Completion	n Date	Current Com	pletion Date	al Completion	Date	of Current Contract Amou	ct Amount Complete				
November 1, 202	23	Novembe	1, 2023				17.45%				
	Contract	Informational Date	es		Mi	lestones					
Date Description	Original (Completion Date	Current Completion	n Date	No Milestone	es Exist for Co	ontract				
Acceptance Date											
Awarded Date	Novembe	r 2, 2022	November 2, 2022								
Letting Date	October 2	1, 2022	October 21, 2022								
Notice to Proceed Date	January 2	2023	023 January 2, 2023								

Contract Total Pa	ay For Estimate No. 4			
		This Estimate	Previous	To Date
221021-H03				
	Total Posted Items Pay	\$671,427.78	\$914,089.66	\$1,585,517.44
	Gross Item Adjustments	(\$26,889.14)	\$328,718.63	\$301,829.49
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$1,242,808.29	\$1,887,346.93
Contract Total Pa	yable This Estimate:	\$644,538.64		

Items Paid This Estimate Period

Open to Traffic Date

Work Began Date

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount					
J9P3702	0470	6181000	MOBILIZATION	BILIZATION LS \$157,529.970 0.75								
Project J9	P3702 - To	tal					\$118,147.48					
J9P3704	0690	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$92.850	4,553.93	\$422,832.40					
	0710	4071005	TACK COAT	GAL	\$1.060	2,653	\$2,812.18					
	0720	4134000	BITUMINOUS FOG SEAL	GAL	\$1.060	400	\$424.00					
	0820	6181000	MOBILIZATION	LS	\$96,792.600	0.75	\$72,594.45					
	0870	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$2.110	25,884.96	\$54,617.27					
Project J9I	P3704 - To	tal					\$553,280.30					
Overall - T	otal						\$671,427.78					

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	<u>Adjustr</u>	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3704	0690	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,903.57	(\$2.59)	(\$4,929.48)
	0690	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,640.36	(\$2.59)	(\$4,247.88)
	0690	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,010	(\$2.59)	(\$2,615.50)

Revision 3/23/2023 Page 1 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 1, 2023

Prog	ress Es	stimate Number 4	Contract Prime Co		21021-H03 pex Paving Co	Pay Period Start Pay Period End	May 16, 2023 June 1, 2023	Contract Am nge Order Ar Contract Am	mount \$5	\$9,079,379.49 \$5,613.12 \$9,084,992.61	
Project Number	Line No.	Item Descrip	tion	Adjustment Type	Other Item Adjustment Type	Cor	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount		
J9P3704	0690	BITUMINOUS PA MIXTURE PG64-		Other Item Adjustment		AC Index Price			(\$15,096.28)		
	0720	BITUMINOUS F	OG SEAL	Material					-400	\$1.06	(\$424.00)
	0720	BITUMINOUS	FOG SEAL	Material		This adjustment of generated Materia Adjustment (0 overridding Payment the co	400	\$1.06	\$424.00		
Total											(\$26,889.14)

Revision 3/23/2023 Page 2 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information		
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J9P3700	FAF 60-4(91)	Resurface	60	BUTLER	on WBL from 0.8 mile	west of Route PP to 0.3 mil	e east of Route V, on EBL from 0.8 mile	e east of Route 21 to Route V near Ellsinore
J9P3702	FAF 60-4(92)	Resurface	60	STODDARD	from 2 miles east of Re	oute 51 to Route F near Du	dley	
J9P3704	FAF 60-4(94)	Shoulder improvement	60	BUTLER	on Route 60 from Rou	te 60/67 interchange to 2.3	miles east of Route 51, on Bus. 60 from	n Route 60 to Route B near Poplar Bluff
J9S3587	FAS S703(50)	Resurface	60	BUTLER	from Short Leaf Drive	to Route W near Poplar Blu	ff	
J9S3588	FAS S703(49)	Resurface	60 OR	BUTLER	from Township Line Re	oad to end of state maintena	ance near Poplar Bluff	
Totals by .	Job Numbe	rs						
J9P3700					This Estimate	Draviana	To Date	1
J3F3/00	Posto	d Item Pay			This Estimate \$0.00	Previous \$0.00	To Date \$0.00	
		Item Adjustm	ents		\$0.00	\$138,422.25	\$138,422.25	
		·		Item Pay	\$0.00	\$138,422.25	\$138,422.25	
	Incen	tive			\$0.00	\$0.00	\$0.00	
		centive			\$0.00	\$0.00	\$0.00	
		lated Damages	3		\$0.00	\$0.00	\$0.00	
	Other	Contract Adju	stments		\$0.00	\$0.00	\$0.00	
J9P3702					This Estimate	Previous	To Date	ı
3913102	Posto	d Item Pay			\$118.147.48	\$615,205.55	\$733,353.03	
		ltem Adjustm	ents		\$0.00	(\$30,442.47)	(\$30,442.47)	
	0.000	ritorii Aujuotiii		Item Pay	\$118,147.48	\$584,763.08	\$702,910.56	
	Incen				\$0.00	\$0.00	\$0.00	
		entive			\$0.00	\$0.00	\$0.00 \$0.00	
		lated Damages Contract Adju			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	
	00.	- Contract / taja	0				·	
J9P3704					This Estimate	Previous	To Date	
		d Item Pay			\$553,280.30	\$298,884.11	\$852,164.41	
	Gross	Item Adjustm		D	(\$26,889.14)	\$215,402.85	\$188,513.71	
			Gross	Item Pay	\$526,391.16	\$514,286.96	\$1,040,678.12	
	Incen	tive			\$0.00	\$0.00	\$0.00	
		entive			\$0.00	\$0.00	\$0.00	
		lated Damages			\$0.00	\$0.00	\$0.00	
	Otner	Contract Adju	siments		\$0.00	\$0.00	\$0.00	
J9S3587					This Estimate	Previous	To Date	
		d Item Pay			\$0.00	\$0.00	\$0.00	
	Gross	Item Adjustm			\$0.00	\$5,336.00	\$5,336.00	
			Gross	Item Pay	\$0.00	\$5,336.00	\$5,336.00	
	Incen	tive			\$0.00	\$0.00	\$0.00	
		entive			\$0.00	\$0.00	\$0.00	
		lated Damages			\$0.00	\$0.00	\$0.00	
	Other	Contract Adju	stments		\$0.00	\$0.00	\$0.00	
J9S3588					This Estimate	Previous	To Date	1
- 300000	Poste	d Item Pay			\$0.00	\$0.00	\$0.00	
		Item Adjustm	ents		\$0.00	\$0.00	\$0.00	
				Item Pay	\$0.00	\$0.00	\$0.00	
	Incen				\$0.00	\$0.00 \$0.00	\$0.00	
		entive lated Damages			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
		Contract Adju			\$0.00 \$0.00 \$0.00			
	Other	- Jimaot Auju			ψ0.00	Ψ0.00	ψ0.00	I

Revision 3/23/2023 Page 3 of 13

Report Generated on June 6, 2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3704, Item 4134000, Project Item Line Number 0720, Material Set 413400096, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Awaiting Certifications from Supplier	coolec1	Overridden

Revision 3/23/2023 Page 4 of 13



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

te: Posted Qi	uantities	and Valu	es are b	pased on R	eport Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	s Gene	rated.					
Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)			
1021-H03	J9P3700	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$30,000.00	\$0.00			
		0001	0020	2159903	MISC.MODIFIED SHAPING SLOPES CLASS III	480.00	0.00	480.00	LF	0.00	\$14.00	\$0.00			
		0001	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	119.00	0.00	119.00	TONS	0.00	\$135.99	\$0.00			
		0001	0040	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	6,015.40	0.00	6,015.40	TONS	0.00	\$97.78	\$0.00			
		0001	0050	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	53.70	0.00	53.70	TONS	0.00	\$220.14	\$0.00			
		0001	0060	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	17,811.30	0.00	17,811.30	TONS	0.00	\$93.17	\$0.00			
		0001	0070	4031056	ASPHALT PERFORMANCE TESTING	1.00	0.00	1.00	LS	0.00	\$1,597.39	\$0.00			
		0001	0080	4031058	INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	0.00	\$7,863.80	\$0.0			
		0001	0090	4031059	PAVER-MOUNTED THERMAL PROFILES	1.00	0.00	1.00	LS	0.00	\$13,606.50	\$0.0			
		0001	0100	4071005	TACK COAT	18,199.00	0.00	18,199.00	GAL	0.00	\$1.00	\$0.0			
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$0.00	\$0.0			
		0001	0120	6161005	CONSTRUCTION SIGNS	1,017.00	0.00	1,017.00	SQFT	0.00	\$5.50	\$0.0			
		0001	0130	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	0.00	\$18.00	\$0.0			
		0001	0140	6161030	TYPE III MOVEABLE BARRICADE	6.00	0.00	6.00	EA	0.00	\$110.00	\$0.0			
		0001	0150	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	0.00	\$750.00	\$0.0			
		0001	0160	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	-8.00	0.00	EA	0.00	\$4,792.16	\$0.0			
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$111,702.48	\$0.0			
		0001	0180	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING,	7.00	0.00	7.00	EA	0.00	\$245.00	\$0.0			
		0001	0190	6205902A	LEFT/RIGHT ARROW 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	63,231.00	0.00	63,231.00	LF	0.00	\$0.22	\$0.0			
		0001	0200	6205903A	PAINT, TYPE L BEADS 6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	ELLOW HIGH BUILD WATERBORNE PAVEMENT 47,624.00 0.00 47,624.00 LF 0.00									
		0001	0210	6209901	MARKING PAINT, TYPE L BEADS MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$10,649.25	\$0.0			
		0001	0220	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	ILLING BITUMINOUS PAVEMENT FOR REMOVAL OF 43,003.00 0.00 43,003.00 SQYD 0.00 \$									
		0001	0230	6224010	SURFACING (3 IN. THICK OR LESS)										
		0001	0240	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	810.60	0.00	810.60	STA	0.00	\$31.91	\$0.0 \$0.0			
		0010	0250	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	6,088.00	0.00	6,088.00	LF	0.00	\$31.00	\$0.0			
		0010	0260	6061069	MGS BRIDGE APPROACH TRANSITION SECTION	3.00	0.00	3.00	EA	0.00	\$3,800.00	\$0.0			
					(REGULARINO CURB) MGS END ANCHOR										
		0010	0270	6061080		5.00	0.00	5.00	EA	0.00	\$1,400.00 \$3,000.00	\$0.0			
	Dunia et 16	0010	0280	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6.00	0.00	6.00	EA	0.00	\$3,000.00	\$0.0			
	J9P3702	0001	0290	2022010	late as of Report Generated Date REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$13,210.00	\$0.0 \$0.0			
		0001	0300	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III	1,360.00	0.00	1,360.00	LF	0.00	\$12.12	\$0.0			
		0001	0310	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	778.20	0.00	778.20	TONS	0.00	\$42.87	\$0.0			
		0001	0320	3105003	GRAVEL (A) OR CRUSHED STONE (B)	1.00	0.00	1.00	SQYD	0.00	\$106.49	\$0.0			
		0001	0330	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	10,902.90	0.00	10,902.90	TONS	5,155.72	\$84.25	\$434,369.4			
		0001	0340	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	7,568.40	0.00	7,568.40	TONS	0.00	\$87.98	\$0.0			
		0001	0350	4071005	TACK COAT	14,206.00	0.00	14.206.00	GAL	3,246.00	\$1.00	\$3,246.0			
		0001	0360	4091048	EMULSIFIED ASPHALT, SEAL COAT	267.00	0.00	267.00	GAL	0.00	\$7.00	\$0.0			
		0001	0370	4094011	SEAL COAT AGGREGATE, GRADE B1	667.00	0.00	667.00	SQYD	0.00	\$7.00	\$0.0			
			0380	4134000	BITUMINOUS FOG SEAL	11,045.00	0.00	11,045.00	GAL	0.00	\$1.00	\$0.0			
		0001	0390	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$0.00	\$0.0			
		0001	0400	6161005	CONSTRUCTION SIGNS	1,995.00	0.00	1,995.00	SQFT	796.00	\$5.50	\$4,378.0			
			0410	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$30.00	\$0.0			
		0001	0410	6161008	CHANNELIZER (TRIM LINE)	410.00	0.00	410.00	EA	322.00	\$30.00	\$5,796.0			
		0001													
		0001	0430	6161030	TYPE III MOVEABLE BARRICADE	20.00	0.00	20.00	EA	0.00	\$110.00	\$0.00			
		0001	0440	6161033	DIRECTIONAL INDICATOR BARRICADE	40.00	0.00	40.00	EA	37.00	\$20.00	\$740.00			

Revision 3/23/2023 Page 5 of 13



Total Paid / All Items / All Estimates (Including this Estimate)

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
21021-H03	J9P3702	0001	0450	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.
		0001	0460	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	2.00	\$3,200.00	\$6,400.0
		0001	0470	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$157,529.97	\$118,147.
		0001	0480	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	102,350.00	0.00	102,350.00	LF	0.00	\$0.22	\$0.
		0001	0490	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	81,905.00	0.00	81,905.00	LF	0.00	\$0.21	\$0
		0001	0500	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,750.00	0.00	1,750.00	LF	0.00	\$1.00	\$0
		0001	0510	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	65,331.00	0.00	65,331.00	SQYD	50,944.62	\$2.28	\$116,153
		0001	0520	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	9,102.00	0.00	9,102.00	SQYD	1,422.20	\$6.77	\$9,628
		0001	0530	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,069.60	0.00	1,069.60	STA	0.00	\$13.00	\$0
		0010	0540	6061060	MGS GUARDRAIL	1,865.00	0.00	1,865.00	LF	0.00	\$32.48	\$0
		0010	0550	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	0.00	\$3,750.00	\$0
		0010	0560	6061074	MGS HEIGHT AND BLOCK TRANSITION	8.00	0.00	8.00	EA	0.00	\$813.00	\$0
		0010	0570	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	0.00	\$1,650.00	\$0
		0010	0580	6061081	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	4.00	0.00	4.00	EA	0.00	\$4,000.00	\$0
		0010	0590	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	17.00	0.00	17.00	EA	0.00	\$3,600.00	\$0
		0070	0600	2169903	MISC.REMOVAL OF BRIDGE GUARDRAIL (THRIE BEAM)	196.00	0.00	196.00	LF	100.00	\$55.00	\$5,500
		0070	0610	7040104	HALF-SOLE REPAIR	100.00	0.00	100.00	SQFT	89.23	\$170.00	\$15,169
		0070	0620	7134000	BRIDGE GUARDRAIL (THRIE BEAM)	196.00	0.00	196.00	LF	0.00	\$438.33	\$0
		0071	0630	2169903	MISC.REMOVAL OF BRIDGE GUARDRAIL (THRIE BEAM)	196.00	0.00	196.00	LF	100.00	\$55.00	\$5,500
		0071	0640	7040104	HALF-SOLE REPAIR	100.00	0.00	100.00	SQFT	72.50	\$170.00	\$12,325
		0071	0650	7134000	BRIDGE GUARDRAIL (THRIE BEAM)	196.00	0.00	196.00	LF	0.00	\$438.33	\$0
		0010	5101	7039902	MISC.Bridge Barrier End Modification	0.00	4.00	4.00	EA	2.00	\$10,987.60	\$21,975
	Project JS				late as of Report Generated Date						, ,,,,	\$760,828
	J9P3704	0001	0660	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$36,000.00	\$0
		0001	0670	2071000	LINEAR GRADING CLASS 1	74.30	0.00	74.30	STA	0.00	\$299.39	\$0
		0001	0680	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III	3,760.00	0.00	3,760.00	LF	0.00	\$12.00	\$0
		0001	0690	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	17,407.20	0.00	17,407.20	TONS	6,718.49	\$92.85	\$623,811
		0001	0700	4019905	MISC.6" OPTIONAL PAVEMENT	1,682.60	0.00	1,682.60	SQYD	0.00	\$126.26	\$0
		0001	0710	4071005	TACK COAT	14,018.00	0.00	14,018.00	GAL	4,250.00	\$1.06	\$4,505
		0001	0720	4134000	BITUMINOUS FOG SEAL	15,129.00	0.00	15,129.00	GAL	400.00	\$1.06	\$424
		0001	0730	6092013	INTEGRAL CURB TYPE M	1,440.00	0.00	1,440.00	LF	0.00	\$85.86	\$0
		0001	0740	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	0.00	3.00	EA	0.00	\$0.00	\$0
		0001	0750	6161005	CONSTRUCTION SIGNS	1,432.00	0.00	1,432.00	SQFT	440.00	\$5.50	\$2,420
		0001	0760	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$30.00	\$0
		0001	0770	6161025	CHANNELIZER (TRIM LINE)	500.00	0.00	500.00	EA	198.00	\$18.00	\$3,564
		0001	0780	6161030	TYPE III MOVEABLE BARRICADE	20.00	0.00	20.00	EA	0.00	\$110.00	\$0
		0001	0790	6161033	DIRECTIONAL INDICATOR BARRICADE	50.00	0.00	50.00	EA	19.00	\$20.00	\$380
		0001	0800	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	1.00	\$750.00	\$750
		0001		6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION	4.00	0.00	4.00	EA	1.00	\$3,200.00	\$3,200
		0001	0810	0101030A	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR							
					RETAINED	1.00	0.00	1.00	10	0.75	\$96 702 60	¢72 E04
		0001	0820	6181000	RETAINED MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$96,792.60	
		0001	0820 0830	6181000 6200018	RETAINED MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	190.00	0.00	190.00	LF	0.00	\$20.00	\$0
		0001	0820	6181000	RETAINED MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.							\$72,594 \$0

Revision 3/23/2023 Page 6 of 13



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Posted Quan	ntities a	and Value	es are b	ased on R	eport Generated date and can differ from the posted am	ount at the	time the	Estimate wa	s Gener	rated.		
	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
:1-H03 J9F	P3704	0001	0860	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8,819.00	0.00	8,819.00	LF	0.00	\$1.00	\$0.00
		0001	0870	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	174,679.00	0.00	174,679.00	SQYD	66,594.86	\$2.11	\$140,515.15
		0001	0880	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,999.40	0.00	1,999.40	STA	0.00	\$15.50	\$0.00
		0001	0890	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	0.00	\$6,500.00	\$0.00
		0010	0900	6061050	GUARDRAIL TYPE E, 6 FT. POST, 3 FT1.5 IN. SPACING	350.00	0.00	350.00	LF	0.00	\$52.00	\$0.0
		0010	0910	6061060	MGS GUARDRAIL	4,025.00	0.00	4,025.00	LF	0.00	\$27.00	\$0.0
		0010	0920	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	21.00	0.00	21.00	EA	0.00	\$3,800.00	\$0.00
		0010	0930	6061074	MGS HEIGHT AND BLOCK TRANSITION	18.00	0.00	18.00	EA	0.00	\$750.00	\$0.0
		0010	0940	6061080	MGS END ANCHOR	10.00	0.00	10.00	EA	0.00	\$1,400.00	\$0.00
		0010	0950	6062303	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	10.00	0.00	10.00	EA	0.00	\$400.00	\$0.0
		0010	0960	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	47.00	0.00	47.00	EA	0.00	\$3,000.00	\$0.0
Pro	oject J9	P3704 - To	tal Value	Posted to D	ate as of Report Generated Date							\$852,164.4
J98	S3587	0001	0970	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0.00
		0001	0980	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENT	3.00	0.00	3.00	100F	0.00	\$3,600.00	\$0.00
		0001	0990	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	76.00	0.00	76.00	SQYD	0.00	\$0.00	\$0.00
		0001	1000	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	680.90	0.00	680.90	TONS	0.00	\$33.18	\$0.0
		0001	1010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	7.00	0.00	7.00	TONS	0.00	\$33.03	\$0.0
		0001	1020	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	1,329.30	0.00	1,329.30	TONS	0.00	\$82.40	\$0.0
		0001	1030	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	785.50	0.00	785.50	TONS	0.00	\$93.28	\$0.00
		0001	1040	4071007	TACK COAT - LOW OR NON-TRACKING	2,131.00	0.00	2,131.00	GAL	0.00	\$3.19	\$0.0
		0001	1050	4134000	BITUMINOUS FOG SEAL	1,202.00	0.00	1,202.00	GAL	0.00	\$2.66	\$0.0
		0001	1060	5029905	MISC.TINTED CONCRETE PAVEMENT (8 IN. NON- REINFORCED)	75.30	0.00	75.30	SQYD	0.00	\$146.46	\$0.0
		0001	1070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$0.00	\$0.00
		0001	1080	6161005	CONSTRUCTION SIGNS	870.00	0.00	870.00	SQFT	0.00	\$5.50	\$0.0
		0001	1090	6161025	CHANNELIZER (TRIM LINE)	20.00	0.00	20.00	EA	0.00	\$18.00	\$0.0
		0001	1100	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$3,200.00	\$0.00
		0001	1110	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$19,848.84	\$0.0
		0001	1120	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	55.00	0.00	55.00	LF	0.00	\$20.00	\$0.00
		0001	1130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	16,760.00	0.00	16,760.00	LF	0.00	\$0.15	\$0.00
		0001	1140	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	778.00	0.00	778.00	SQYD	0.00	\$9.31	\$0.00
		0001	1150	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,094.00	0.00	1,094.00	SQYD	0.00	\$6.63	\$0.0
		0010	1160	6061060	MGS GUARDRAIL	100.00	0.00	100.00	LF	0.00	\$30.00	\$0.0
		0010	1170	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	0.00	\$3,200.00	\$0.0
Pro	oject J9	S3587 - To	tal Value	Posted to D	ate as of Report Generated Date							\$0.0
J9S	S3588	0001	1180	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	406.30	0.00	406.30	TONS	0.00	\$37.69	\$0.0
		0001	1190	3105002	GRAVEL (A) OR CRUSHED STONE (B)	8.00	0.00	8.00	TONS	0.00	\$37.91	\$0.00
		0001	1200	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	1,028.00	0.00	1,028.00	TONS	0.00	\$86.57	\$0.0
		0001	1210	4071007	TACK COAT - LOW OR NON-TRACKING	1,306.00	0.00	1,306.00	GAL	0.00	\$3.19	\$0.0
		0001	1220	4134000	BITUMINOUS FOG SEAL	717.00	0.00	717.00	GAL	0.00	\$3.19	\$0.0
		0001	1230	6161005	CONSTRUCTION SIGNS	638.00	0.00	638.00	SQFT	0.00	\$5.50	\$0.0
		0001	1240	6161025	CHANNELIZER (TRIM LINE)	20.00	0.00	20.00	EA	0.00	\$18.00	\$0.0
		0001	1250	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$3,200.00	\$0.00

Page 7 of 13 Revision 3/23/2023



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221021-H03	J9S3588	0001	1270	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	44.00	0.00	44.00	LF	0.00	\$20.00	\$0.00
		0001	1280	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	12,904.00	0.00	12,904.00	LF	0.00	\$0.15	\$0.00
		0001	1290	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	239.00	0.00	239.00	SQYD	0.00	\$30.17	\$0.00
		0001	1300	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	569.00	0.00	569.00	SQYD	0.00	\$12.52	\$0.00
	Project J	9S3588 - To	tal Value	Posted to D	ate as of Report Generated Date							\$0.00
221021-H03 Overall - Total Value Posted to Date as of Report Generated Date										\$1,612,992.62		

Page 8 of 13 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3702

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0470	6181000	MOBILIZATION	5/31/23	6/1/23	0.75	LS	75% of J9P3702	281.699		287.505		

Project: J9P3704

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0690 4011209	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	5/16/23	5/24/23	1,903.57 TONS		Rte 60 EB in Butler County on the outside 10' shoulder	LM 273.033	EB 10' Shoulder		EB 10' Shoulder	
			5/25/23	6/1/23	1,640.36	TONS	60 Eastbound RT SHLDR	276.033		278.866		
			5/31/23	6/1/23	1,010.00	TONS	BU 60 Eastbound RT SHLDR	5.189		7.11		
0710 407100	4071005	TACK COAT	5/16/23	5/24/23	871.00	GAL	Rte 60 on Outside 10' EB Shoulder	LM 273.033	EB 10' Shoulder		EB 10' Shoulder	Sprayed 900 Gallons @ 100% at 170 Degrees = Corrected to 871 Gallons
			5/25/23	6/1/23	1,111.00	GAL	60 Eastbound RT SHLDR	276.033		278.866		
			5/31/23	6/1/23	671.00	GAL	BU 60 Eastbound RT SHLDR	5.189		7.11		
0720	4134000	BITUMINOUS FOG SEAL	5/16/23	5/24/23	400.00	GAL	Existing shoulder on WB side in Butler County	70.134	outside	71.67 to	outside	Outside 6' that was not milled out and replaced.
0820	6181000	MOBILIZATION	5/31/23	6/1/23	0.75	LS	75% of J9P3704	264.551		281.699		
0870 6221001	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	5/24/23	6/1/23	16,180.10	SQYD	60 E, RT SHLDR	276.033		278.866		
				6/1/23	36.70	SQYD	BU 60 Eastbound RT SHLDR	5.715		5.726		
				6/1/23	55.60	SQYD	BU 60 Eastbound RT SHLDR	5.328		5.340		
				6/1/23	67.50	SQYD	BU 60 Eastbound RT SHLDR	5.926		5.949		
				6/1/23	70.40	SQYD	BU 60 Eastbound RT SHLDR	5.574		5.598		
				6/1/23	70.40	SQYD	BU 60 Eastbound RT SHLDR	6.446		6.470		
				6/1/23	73.30	SQYD	BU 60 Eastbound RT SHLDR	6.716		6.741		
				6/1/23	177.80	SQYD	BU 60 Eastbound RT SHLDR	6.921		6.938		
				6/1/23	188.90	SQYD	BU 60 Eastbound RT SHLDR	6.896		6.916		
				6/1/23	639.50	SQYD	BU 60 Eastbound RT SHLDR	5.189		5.298		
				6/1/23	686.40	SQYD	BU 60 Eastbound RT SHLDR	5.598		5.715		
				6/1/23	797.90		BU 60 Eastbound RT SHLDR	5.733		5.869		
				6/1/23	909.30	SQYD	BU 60 Eastbound RT SHLDR	6.741		6.896		
				6/1/23	1,009.06		BU 60 Eastbound RT SHLDR	6.938		7.11		
				6/1/23	1,102.90		BU 60 Eastbound RT SHLDR	5.340		5.528		
				6/1/23			BU 60 Eastbound RT SHLDR	6.470		6.677		
				6/1/23	1,226.10		BU 60 Eastbound RT SHLDR	5.949		6.158		
				6/1/23	1,378.70	SQYD	BU 60 Eastbound RT SHLDR	6.158		6.393		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 9 of 13



Line Item Adjustments by Estimate

Contract ID: 221021-H03

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J9P3700	0250	MGS GUARDRAIL, 8 FT. POSTS, 6			1	Apr 17, 2023	SYSTEM	\$116,271.25	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT 3 IN		- Total				\$116,271.25	
			Construction	Stockpile S	ΓΜΙ - Tota			\$116,271.25	
	0250 -	· Total						\$116,271.25	
	0260	MGS BRIDGE APP. TRANS SEC	Construction Stockpile STMI		1	Apr 17, 2023	SYSTEM	\$6,801.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(REG/NO CURB)	STIVII	- Total				\$6,801.00	
			Construction Stockpile STMI - Total					\$6,801.00	
	0260 -	Total						\$6,801.00	
	0270	MGS END ANCHOR	Construction Stockpile STMI	- Total	1	Apr 17, 2023	SYSTEM	\$4,100.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 1 11	1 Stockpile STMI - Total				\$4,100.00	
	0270	Total	Construction	Stockpile S	IMI - Tota			\$4,100.00	
	0270 -	TYPE A	Construction		4	Amr 17	SYSTEM	\$4,100.00	December Cation at a Home Adjustment generated Stackwills Transportion
	0280	CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile STMI	- Total	1	Apr 17, 2023	STSTEM	\$11,250.00 \$11,250.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total Stockpile Si	IMI Total			\$11,250.00	
	0280 -	Total	Construction	- Stockpile S	-Wii - Tota			\$11,250.00	
J9P3700	_	Total						\$138,422.25	
J9P3702	0330	BIT. PAVEMENT	Other Item	ACAD	3	May 16,	smithl5	(\$17,091.21)	For Mix Placed on 5/2/23, 5/4/23, 5/8/23 & 5/11/23 on J9P3702
J9F3702	0330	MIXTURE PG64-22 (BP-1)	Adjustment	ACAD - Tota		2023	Silliulio		For Mix Placed Oil 3/2/23, 5/4/23, 5/6/23 & 3/11/23 Oil 39F3/02
			Othor Itom A					(\$17,091.21)	
			Other Item Adjustment - Total Price FUEL 3 May 16, SYSTEM					(\$17,091.21)	Defended them Drive Adjustment by dear Adjustment Time and its EUE
			Price FUEL		3	May 16, 2023	STSTEM	(\$13,351.26)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total					(\$13,351.26)	
			Price FUEL -	Total				(\$13,351.26)	
	0330 -							(\$30,442.47)	
	0400	CONSTRUCTION SIGNS	Material		1	Apr 17, 2023	SYSTEM	\$1,723.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user coolec1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Apr 17, 2023	SYSTEM	(\$1,723.37)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0400 -	· Total						\$0.00	
	0420	CHANNELIZER (TRIM LINE)			1	Apr 17, 2023	SYSTEM	\$1,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user coolec1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Apr 17, 2023	SYSTEM	(\$1,800.00)	
			- Total					\$0.00	
			Material - To	tal				\$0.00	
	0420 -	Total						\$0.00	
	0440	DIRECTIONAL INDICATOR BARRICADE	Material		1	Apr 17, 2023	SYSTEM	\$360.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user coolec1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Apr 17, 2023	SYSTEM	(\$360.00)	
			- Total					\$0.00	
			Material - To	tal				\$0.00	
	0440 -	· Total						\$0.00	
	0450	FLASHING ARROW PANEL	Material		1	Apr 17, 2023	SYSTEM	\$750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user coolec1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					1	Apr 17,	SYSTEM	(\$750.00)	,



Line Item Adjustments by Estimate

Contract ID: 221021-H03

COMMUNICATION 2023 Estimate Item Adjustment (0009) Estimate Exception 5 on the curre	16.37) 5/23 on J9P3704.
O450 - Total S0.00	due to user coolec1 overridding Payment ent Payment Estimate. 16.37)
O450 - Total	due to user coolec1 overridding Payment ent Payment Estimate. 16.37)
1	due to user coolec1 overridding Payment ent Payment Estimate. 16.37)
COMMUNICATION INTERFACE, CONT F/ 1 Apr 17, 2023 Estimate Item Adjustment (0009) Estimate Exception 5 on the curr 1 Apr 17, 2023 SYSTEM (\$6,400.00)	due to user coolec1 overridding Payment ent Payment Estimate. 16.37)
1	5/23 on J9P3704.
Material - Total \$0.00	5/23 on J9P3704.
\$0.00 \$0.0	5/23 on J9P3704.
J9P3702 - Total G\$30,442.47 G\$30,442.4	5/23 on J9P3704.
J9P3704 0690 BIT. PAVEMENT MIXTURE PG64-22 (BP-1) Other Item Adjustment ACAD 2 May 2, 2023 coolect (\$1,716.37) AC Index Price Adjustments (-17 May 16, smithl5 (\$5,459.14) For Mix Placed on 5/12/23 & 5/15 2023 4 Jun 1, 2023 ACAD - Total (\$22,271.79)	5/23 on J9P3704.
MIXTURE PG64-22 (BP-1) Adjustment 2023 May 16, smithl5 (\$5,459.14) For Mix Placed on 5/12/23 & 5/18 4 Jun 1, coolec1 (\$15,096.28) AC Index Price Adjustments (-15 ACAD - Total Other Item Adjustment - Total Price FUEL 2 May 2, 2023 SYSTEM (\$1,186.08) Reference Item Price Adjustment	5/23 on J9P3704.
3	
2023 (\$22,271.79) Other Item Adjustment - Total (\$22,271.79) Price FUEL 2 May 2, 2023 SYSTEM (\$1,186.08) Reference Item Price Adjustment	096.28)
Other Item Adjustment - Total (\$22,271.79) Price FUEL 2 May 2, 2023 (\$1,186.08) Reference Item Price Adjustment	
Price FUEL 2 May 2, 2023 (\$1,186.08) Reference Item Price Adjustment	
2023	
	Index Adjustment Type applied is FUEL
2023	Index Adjustment Type applied is FUEL
2023	Index Adjustment Type applied is FUEL
- Total (\$17,243.50)	
Price FUEL - Total (\$17,243.50)	
0690 - Total (\$39,515.29)	
FOG SEAL 2023 Estimate Item Adjustment (0004) Estimate Exception 1 on the curr	al system-generated Material Payment due to user coolec1 overridding Payment ent Payment Estimate.
4 Jun 1, 2023 (\$424.00)	
- Total \$0.00	
Material - Total \$0.00	
0720 - Total \$0.00	
TYPE E, 6 FT. Stockpile 2023 POST, 3 FT,-1,5 STMI	nt generated Stockpile Transaction
- Total \$10,500.00	
Construction Stockpile STMI - Total \$10,500.00	
	ent generated Stockpile Transaction
- Total \$63,836.50	
Construction Stockpile STMI - Total \$63,836.50	
0910 - Total \$63,836.50	
0920 MGS BRIDGE Construction 1 Apr 17, SYSTEM \$47,607.00 Payment Estimate Item Adjustme Apr. TRANS SEC Stockpile 2023	nt generated Stockpile Transaction
(REG/NO CURB) STMI - Total \$47,607.00	
Construction Stockpile STMI - Total \$47,607.00	
0920 - Total \$47,607.00	
AND BLOCK Stockpile No 2023	nt generated Stockpile Transaction
TRANSITION Transaction Type - Total \$7,510.50	
Construction Stockpile No Transaction Type - Total \$7,510.50	





Line Item Adjustments by Estimate

Contract ID: 221021-H03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3704	0930 -	0 - Total						\$7,510.50	
	0940	MGS END ANCHOR	Construction Stockpile STMI		1	Apr 17, 2023	SYSTEM	\$8,200.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$8,200.00	
			Construction	Stockpile S	ГМI - Total			\$8,200.00	
	0940 -	Total						\$8,200.00	
	0950	ASYMMETRICAL TRNS. SEC., 6.5 FT. POSTS	Construction Stockpile		1	Apr 17, 2023	SYSTEM	\$2,250.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$2,250.00	
			Construction	Stockpile S	ΓΜΙ - Total			\$2,250.00	
	0950 -	Total						\$2,250.00	
	0960	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	Apr 17, 2023	SYSTEM	\$88,125.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$88,125.00	
			Construction	Stockpile S	ΓΜΙ - Total			\$88,125.00	
	0960 -	Total						\$88,125.00	
J9P3704	704 - Total							\$188,513.71	
J9S3587	1160	MGS GUARDRAIL	Construction Stockpile		1	Apr 17, 2023	SYSTEM	\$1,586.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$1,586.00	
			Construction	Stockpile S	ΓΜΙ - Total			\$1,586.00	
	1160 -	Total						\$1,586.00	
	1170	TYPE A CRASHWORTHY END TERMINAL (MASH)	Stockpile		1	Apr 17, 2023	SYSTEM	\$3,750.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$3,750.00	
			Construction	Stockpile S	ΓMI - Total			\$3,750.00	
								\$3,750.00	
	1170 -	Total						\$3,750.00	
J9S3587 -		Total						\$5,730.00	

MoDOT

Contract Adjustments for Contract - 221021-H03

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 13 of 13